DUSS

Diamantbohrmaschine

Einzelteilliste DIA400W
Teile- Bestell-Nr. Stiick Teile-Nr. Bestell-Nr. Stiick
Nr. je je Maschine
Maschine

Motorgehause 1 DIA400W/1 1 Spindelrad 101 DIA400W/101 1
Zwischendeckel 2 DIA400W/2 1 Stutzscheibe 103 DIA400W/103 1
Lagerkappe 3 DIA400W/3 1 Bremsscheibe A 104 DIA400W/104 2
Klemmkastendeckel 4 DIA400W/4 1 Druckscheibe 105 DIA400W/105 3
Anker 5 DIA400W/5 1 Wellenschutzhiilse 106 DIA400W/106 2
Feldpaket 6 DIA400W/6 1 Bremsscheibe B 107 DIA400W/107 2
Leiterplatte 7 DIA400W/7 1 Druckring 109 DIA400W/109 1
Kahlprofil 8 DIA400W/8 1 Stecknippel 110 DIA400W/110 1
Schalterdichtung 11 DIA400W/11 1 Forderschnecke 112 DIA400W/112 1
Feldbolzenisolierhiilse 12 DIA400W/12 2 Nadelkranz 115 DIA400W/115 1
Birstenbriicke 13 DIA400W/13 1 Rillenkugellager 120 DIA400W/120 1
Luftleitscheibe 14 DIA400W/14 1 Rillenkugellager 121 DIA400W/121 1
Klemmkastendichtung 15 DIA400W/15 1 Nadellager 122 DIA400W/122 1
Klemmkasten 16 DIA400W/16 1 Nadelhiilse 123 DIA400W/123 2
Kohleblirste 17 DIA400W/17 2 Nadelhiilse 124 DIA400W/124 1
Tragegriff 19 DIA400W/19 1 Axialkugellager 125 DIA400W/125 1
Rillenkugellager 20 DIA400W/20 1 Axial-Nadelkranz 126 DIA400W/126 1
Rillenkugellager 21 DIA400W/21 1 Axialscheibe 127 DIA400W/127 1
Kugellagerausgleichscheibe 22 DIA400W/22 1 O-Ring 102x3 128 DIA400W/128 1
O-Ring 32x3 23 DIA400W/23 1 O-Ring 20x3 129 DIA400W/129 1
Radial-Wellendichtring 25 DIA400W/25 1 O-Ring 11x2,5 130 DIA400W/130 1
Zylinderschraube M6x35 26 DIA400W/26 4 Wellendichtring 131 DIA400W/131 1
Zylinderschraube M5x120 27 DIA400W/27 2 Wellendichtring 132 DIA400W/132 1
Zylinderschraube M4x40 28 DIA400W/28 4 Wellendichtring 133 DIA400W/133 1
Zylinderschraube M4x6 29 DIA400W/29 2 Schlauchstiick 134 DIA400W/134 1
Senkschraube 30 DIA400W/30 2 Kugelhahn mit Knebelgriff 135 DIA400W/135 1
Flachkopfschraube 31 DIA400W/31 1 Doppelgewindenippel 136 DIA400W/136 1
Linsenschraube 32 DIA400W/32 1 Dichtring 137 DIA400W/137 3
Sechskantmutter M5 33 DIA400W/33 2 Tellerfeder 140 DIA400W/140 &
Kerbstift 34 DIA400W/34 4 Schraubendruckfeder 141 DIA400W/141 1
Linsenschraube M4x6 35 DIA400W/35 1 Kugel @5 142 DIA400W/142 1
Sicherungsscheibe M6 36 DIA400W/36 7 Kugel @4 143 DIA400W/143 2
Federscheibe 37 DIA400W/37 2 Passfeder 144 DIA400W/144 1
Federscheibe 38 DIA400W/38 1 Passfeder 146 DIA400W/146 1
U-Scheibe M4 39 DIA400W/39 3 Zylinderstift 6x10 147 DIA400W/147 1
Gewindestift 40 DIA400W/40 1 Zylinderstift 6x15 148 DIA400W/148 1
Kondensator 48 DIA400W/48 1 Zylinderstift 3x16 149 DIA400W/149 1
Kabelverschraubung 54 DIA400W/54 1 Passscheibe 150 DIA400W/150 1
Netzschalter 56 DIA400W/56 1 Sicherungsring 151 DIA400W/151 1
Kabel mit Stecker und PRCD 75 DIA400W/75 1 Sprengring 152 DIA400W/152 1
Typenschild 85 DIA400W/85 1 Sechskantmutter 160 DIA400W/160 1
Getriebegehause 90 DIA400W/90 1 Zylinderschraube M6x50 161 DIA400W/161 3
Wasseranschlussring 91 DIA400W/91 1 Zylinderschraube M5x12 162 DIA400W/162 1
Schaltgriff 92 DIA400W/92 1 Zylinderschraube M5x45 163 DIA400W/163 3
Schalthebel 93 DIA400W/93 1 Sicherungsscheibe M5 165 DIA400W/165 1
Bohrspindel 94 DIA400W/94 1 Leichtlésering 175 DIA400W/175 1
Ritzelwelle 95 DIA400W/95 1

Vorlegewelle 96 DIA400W/96 1

Vorlegerad 97 DIA400W/97 1

Losrad 1 98 DIA400W/98 1

Losrad 3 99 DIA400W/99 1

Schieberad 100  DIA400W/100 1

09/05 Bei Bestellung bitte immer Bestell-Nr. angeben.



DIAMANTBOHRMASCHINE DIA400W

<
Py

S

Q ) e /‘n‘!‘ S

7 \& 16‘.‘"»
7






